M:thin English Brain Teasers level 1 #10

Which number completes this sequence ?

OV WOV WYY
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Which 2 numbers complete this sequence ?

51915 2 | 8 |12 3187

7| 8|16 319114 9 | 717

13 | 18 7119 1518
puzzle3

Which number completes this sequence ?

20> |15 > |18
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17| C—> |20 > |23
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M:thin English Brain Teasers level 1 #10

Answer to brain teasers

puzzle1: 34
Subtract respectively 8, 7, 6 , 5 and so on.

puzzle2: 14 and 19
Add 3 to the sum of the rows and columns in the 3rd square.

puzzle3: 12
Add 3 for horizontal arrows and add 5 for vertical arrows.
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